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1. 20% Consider the difference-amplifier circuil of Fig. 1 (the op amp is ideal) for the case Ry = Ry = 2kQ and Ry = Rq =
200k2.
(a) T'ind the value of the differential gain Ay = (vi-v2)/v,.
(b) Find the vatue of the differential input resistance Ry, and the output resistance R,.
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2. 20% Find the values ol the ¥ and 7 as shown in Fig. 2. Assume the diodes are ideal.
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in saturation and triode regions respectively of an NMOS

3. 20% Assume A = 0. In Fig. 3, what are the drain currents, Ip,

transistor?
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4. 20% In Fig. 4, the transistor bas Vi = 1.5V, Kn’(W/L) = 0.25mA/V?, and V4 = 50V. Assume the coupling capacitor to be
sufficiently large so as to act as short circuits as the signal frequencies of interest. Find the small-signal voltage gain (4,)

and input resistance (R;,).
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5. 20% Analyze Fig. 5 to find /¢, Ip, Ve, and V. Assume 8= 100,
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